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[72bA] [#9831X] [SS-SUS] [N SE4R] [RREE 4.0KPa] [75> 1]
EHDHALF- 0-EHS/EHU g *ﬁé%ﬁiﬁﬁ%tt
2 =R ¢ D1 ¢ DO C n—d L t
EHDHALF— 75 EHS.EHU 76. 3 175 135 4—19 200 910
EHDHALF— 100 EHS.EHU 100 200 160 8—19 220 910
EHDHALF— 125 EHS.EHU 125 225 185 8—19 220 9./10
EHDHALF- 150 EHS.EHU 150 250 210 8—19 220 9./10
EHDHALF—175 EHS.EHU 175 275 235 8—23 220 9./10
EHDHALF—200 EHS.EHU 200 300 260 8—23 220 910
EHDHALF—225 EHS.EHU 225 325 285 12—23 300 910
EHDHALF—250 EHS.EHU 250 350 310 12—23 300 910
EHDHALF—300 EHS.EHU 300 400 360 12—23 300 12
EHPDHFL—350 EHS./EHU 350 450 410 12—25 360 12
EHDHALF—400 EHS./EHU 400 500 460 16—25 400 12
EHDHALF—450 EHS.EHU 450 550 510 16—25 450 12
EHDHALF—500 EHS.”EHU 500 600 560 20—25 500 12
EHDHALF—550 EHS.”EHU 550 650 610 20—27 550 12
EHDHALF—600 EHS.”EHU 600 700 660 20—27 600 12
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